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Answei ALL questlons o

PART A—— (10 % 2 20 malks)

1. Give the com_ﬁtionsto Build up voltage in shunt generator,.
2. Why series.motor _é:@nnot beAstari:ed withouf:any load?‘ .

3. What is an. 1deal tlansfounel dnd Jhow does 1t d1ffel ﬁom a practlcal

_.tlansf(n mer?

4 ' Define the all day efficiency of a transformer. ' 5
5. Write the pﬁn_dple of of_ieratién of three phase i_nductiqn‘motdrl; . 7 L

6 What is sy.n._chronous sbeéd?

7 Déf_ii’.le. t-helt.err'n Accﬁ'racy and pre.cision_. ‘

'_ 8.. Write the nll.eri‘ts and limitations of thgrm_istor.
9. Listthe types ;)_f DVM.

, -

10. = What are the advantagés of digital instruments?



(i) Explain the construction and working of digital multimeter. (7

(i) Write neat diagram explain the opemth of storage oscilloscope.

(6)
Or
()  Explain .with neat diagrams the bndge balance condition for
a Maxwell's bndge. i , _ o (D
(i) Explain the working of Q meter witi1 neat cireuit diagram _ (6) ‘

PART c— (1 x 16 = 15 malks)

A 10 ]{VA 115 /115 V. single phase 50. Hz tr ansfonne1 has a fu]l load
efficiency of 97% at UPF and has an-iron loss of 109 W. The transformer

-is now connected as an Auto-transformer to a 230 V supply. If it delivers

a load of 10 kW at UPI‘ to a IL) _V circuit, calculate Lhe effu:lency of

.'ope1 atlon

‘A 37 kW, 500 VDC, compound machine when run as a shunt motor hasa
~full-load efficiency .of 88% and.a speed of 800 -rpm. The- series field
- winding is added to increase “the “speed to 850 rpm. Calculate the
~efficiency and -armature current under -this new load condition. Given -
that_the armature, series field, and shunt field resistances are 0.4 Q,

~ the magnitude and dnectlon of the displacement of core of LVDT is
détected. : : : " - (7)

@) Describe the working and consti'uctio'u of RTD. - - (6).
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: 01 Q,and 250 .Q 1espect1vely Assume that the output and constant 1053'_ o
) '1emdm the same S :

PART B — (o % 13 =65 mzuks) 15. (a) -
11 (a) With neat sketch éxplain the theory of operation of DC generator.
'O]’.'
(b) (i) Describe the characteristics of DC generators. ) (D
(i) . Write short notes on different types of DC motors. (G)
12. @ @ _ Develop an equivalent circuit - of a single -phase two winding
‘transfor mer Lefeumg to primary side. . - - (7 - 16. (a)
(ii) i'Dl aw the phasm diagr am f01 a single phase tlallstllllGi supplylng _ - :
A leadmg poivel fact(n load and e\plam the dlagiam PN (¢) -
. (b) ) '_'Explams the punclple of 0pe1 atlon of an Auto tr ansfonnel L1st the - i e : o '.(.b)'. B
EERCT I'fments and demeuts L -.’. L (6) SRR '
o (i_i) d Dlaw : the equlvalent cncult of tlansfounel and obtam the _
' explessmn for efﬁmencyf T e T P AT ¢ ) IR
13. {(a) Explain the st_artin'g methods of single phase induciion motors, - R
by ) _D1scuss t01que equatmn of synclnonous mot01 o - o '('Z)~ -
T (i) A factory takes 600 kVA ‘at-a laggmg powe1 factm of 0.6. D
A synchmnous motor is to be installed to raise the power factm to R
0.9 lagging when the motor is taking 200 kW, Calculate the .~ . - ( o
- corresponding apparent powe1 (111 kVA) taken by the mator and the SRR ) :_ SR
power factcn at. wlnch it opelates R : () '
(ii) Explain_the working of stre_iin gauge, - e e _' . .(6) g
| Or * o
(b) ‘(i) Explain the construction and working of LVDT. Alse explain how -
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